¥ ¥ K XX

LR

Choose the correct spelling
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building
speling
eratic
fifty
reseeve
revize
deceive
scintist
inside
rupter
leesure
seisure
pleasure
vultur
glacier
debree
maoraine
cirke
iceberg
advants

billding
spealling
erratic
fiffty
receive
reveise
decieve
sceintist
insied
rupture
liesure
seizure
plessure
vulture
glasher
debrise
moarane
cirgue
iceburg
advence

bilding
spelling
erattic
fiftey
recieve
revise
deseeve
scientist
innside
ropture
leisure
siezure
pleasur
vullture
glaicer
debris
morane
serque
icebirg
advance
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